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19 AR)ILERE

KEA=REImLE PAR=#E60cmLl E3ImK i {EAKR=155=60cm* i

No EH HiiE Eam)  BAGADH) %
K1 th R HHh 0.8
K2 AR HHh 0.8
O1 = A v3ag 3.0 0.12
K3 AR HHh 0.8
K4 AR HHh 0.8
K5 AR HHh 0.8
X3 AR )N 0.9
B8 AR AXIY 1.1
B9 hR AXIY 1.1
B10 B R AXYY 1.1
B11 B R AXYY 1.1
L1 R waVE S AV 1.1
01 R YINF 1.5
O2 R YINF 1.5
O3 K W 15
O4 R YINF 1.5
©2 =R v3ad 3.0 0.12
D2 K YIYINFT 1.6
D5 K VI 1.6
D6 K YIYINFT 1.7
©3 =R v3ad 3.0 0.12
04 =R v3ad 3.0 0.12
©5 =R v3ad 3.0 0.12
©6 =R v3ad 3.0 0.12
©7 =R v3ad 3.0 0.12
o8 =R v3ad 3.0 0.12
533 =R FRAIEF 35 0.21
E5 =R FUEYEA 33 0.25
* 1 =R TohY 45 0.25
*2 =R TohY 45 0.25
*3 =R Tohy 45 0.25
* 4 =R TohY 45 0.25
*5 =R TIhY 45 0.25
* 6 =R TIhY 45 0.25
E9 =R FUEGEA 35 0.28
U2 =R <Y 35 0.28
Er4 =N FUEEA 35 0.30
E17 =N FUEGEA 35 0.30
p3 =R NFEXF 45 0.31
E8 =R FUEYEA 35 0.35
E10 =R FUEYEA 35 0.35
E12 =R FUEYEA 35 0.35
E13 =R FUEYEA 35 0.35
U3 AR <H 1.8
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No TR HiiE Eam)  BAGADH) %
B2 B R A5 2.0
B5 AR AXIY 2.0
X7 AR )N 2.0
t1 2]y N NS 2.0
©9 R v3d 2.0
L2 ER PIXIYD 0.5
E16 = A FUEEA 35 0.35
E18 = A FUEEA 35 0.35
c3 =K AONEID 40 0.36
p 2 = NFEXX 45 0.36
j 10 =R YA/ 5.0 0.37
E7 =R XUEIEA 5.0 0.38
E19 =R XUEIEA 35 0.40
E20 =R XUEIEA 35 0.40
E24 =R XUEIEA 35 0.40
©10 B R Ve = 2.0
©11 hR v3ad 2.0
©12 hR v3ad 2.0
E25 =R XUEIEA 35 0.40
E6 =R XUEIEA 35 0.42
E15 =R FUEYEA 35 0.42
p 4 =R NFERF 40 0.42
©13 B R v3ad 2.0
L2 =R hAIh4T+ 38 0.45
L3 =R hAIh4T+ 35 0.45
©14 hR v3agd 2.0
Y4 [=% N > aA 7.0 0.46
Y3 =R J3oTY 35 0.48
ETl =R FUEHEA 35 0.50
E21 =R FUEYEA 35 0.50
E23 =R FUEYEA 35 0.50
Ut =R <Y+ 35 0.50
©15 R v3aa 2.0
F2 =R rVES 45 0.53
1 =R I3y 34 0.54
h2 =N a7Y 45 0.56
E22 =N FUEEA 35 0.60
534 =R FRAIEF 5.2 0.60
L2 =R I3y 44 0.62
©16 R v3aa 2.0
©17 R v3ag 2.0
©18 R v3ag 2.0
©19 R v3aa 2.0
cl =K A(ONEID 38 0.63
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No TR HiiE Eam)  BAGADH) %
c2 (SN AO/NEID 5.0 0.65
LM =mA hAIh4A4Tx 40 0.65
j 1 =mA VERE 5.0 0.67
N7 =mA ohY 6.5 0.68
B3 =mA A5 33 0.77
El = A FUEEA 34 0.84
h1 =mA a7y 5.7 0.85
©20 B R v3d 2.0
©21 hR v3ad 2.0
©22 hR v3ad 2.0
©23 B R Ve = 2.0
024 AR v3ad 2.0
©25 hR v3ad 2.0
©26 hR Ve = 2.0
©27 hR v3ad 2.0
©28 hR v3ad 2.0
©29 hR v3ad 2.0
©30 hR Ve = 2.0
©31 hR v3ad 2.0
©32 hR v3agd 2.0
©33 B R v3ad 2.0
©34 R Y33 2.0
©35 hR v3agd 2.0
©36 B R v3ad 2.0
©37 hR v3agd 2.0
©38 hR v3agd 2.0
©39 hR v3agd 2.0
©40 B R v3ad 2.0
©41 hR v3agd 2.0
©42 hR v3agd 2.0
©43 B R v3ad 2.0
©44 hR v3agd 2.0
©45 R v3aa 2.0
©46 R v3aa 2.0
©47 R v3aa 2.0
©48 R v3aa 2.0
©49 R v3aa 2.0
©50 R v3aa 2.0
©51 R v3aa 2.0
©52 R v3aa 2.0
©53 R v3ag 2.0
054 R v3ag 2.0
©55 R v3aa 2.0
©56 R VEm] 2.0
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©57 B R v3d 2.0
©58 B R v3d 2.0
©59 B R v3d 2.0
©60 B R v3d 2.0
O1 B R A)—7 2.0
02 B R A)—7 2.0
Ok} B R A)—7 2.0
04 B R A)—7 2.0
05 B R A1)—7 2.0
D3 K YIYUINFT 2.1
E3 hR XUEIEA 2.1
B hR AXIY 2.3
D4 K VI 2.3
E2 hR XUEIEA 24
D8 K YIYUINFT 2.7
D7 K VIV 2.8
c4 R AONEID 2.8
h3 AR aJy 2.8
B4 hR AXIY 2.9
E4 hR XUEIEA 2.9
F1 =R oy VES 8.0 0.97
532 =R FRAIEF 6.0 1.00
529 =R FRAIEF 5.0 1.05
S31 =R FRAIEF 6.0 1.40
9 =R YA/ 6.0 1.40
S30 =R FRAIEF 6.0 1.50
AT =R EAX1JsN 3.0
A2 =R EALX1JsN 3.0
A3 = A EAZX/N 3.0
A4 =R EAX1JsN 3.0
A5 =R EAX1JsN 3.0
A6 = A EAZX/N 3.0
A7 (= N EAX1)/N 30
A8 (= N EAX1)/N 30
A9 (= N EAX1)/N 30
A710 (= N EAX1)/N 30
AT1 (= N EAX1)/N 30
A712 (= N EAX1)/N 30
A13 (= N EAX1)/N 30
A4 (= N EAX1)/N 30
ul AR 214)9h% 2.0
u2 AR 214)9h% 2.0
u3 AR 214)9h% 2.0
ud AR 214)9h% 2.0
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HE—%

No EH g Ba(m)  BEAGEAROH) #E
ub R 1) Y h¥x 2.0
ub R 1) Y h¥x 2.0
u’ R 1) Y h¥x 2.0
u8 R 1) Y h¥x 2.0
u9 R 1) Yh¥x 2.0
ulo R 1) Yh¥x 2.0
ull R 1) Y h¥x 2.0
ul2 R 1) Y h¥x 2.0
ul3 AR 214)9h* 2.0
ul4 AR 214)9 7% 2.0
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X AR=1 5 60cm LA _E3mR il {EAR=#E60cmRKii &= F

No EH e = (m) EAE(n) PARREE(N) =
11 R AXIHT 0.8 0.7 3.7
12 R AXYY 0.9 3.7 10.2
1 R YHEXUUD 0.7 498 82.3
2 R YUy o 0.6 5.6 12.2
5 R Wi = S A b 0.7 42 115
6 EX VI AP 0.4 6.6
vl EXR YUy s 0.4 7.0
+8 ER YUy o 0.4 70.0
9 EX YUY 0.4 2.0
410 EXR YUy D 0.4 56.8
K1 R (NP 1.1 18.8 44.4
21 a2 DA 5.1
&2 e DZA 4799
23 a2 TA 45.9
4 a3 D7A 51.7
&5 <& D7A 282.5
*1 <& F)yoy 135.0
F*2 a3 FoIy 160.0
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No EH HiiE Eam)  BAGADH) %
J67 =mA HOHEF 3.2 0.20
r1 =mA LoYFoxT 3.2 0.20
N1 =mA ohY 45 0.27
N2 =mA ohY 45 0.27
J4 =mA HOHEF 40 0.28
ul th R V¥ 0.7
J19 =mA JOHEF 33 0.28
al = A TANE 45 0.30
a2 =R TA NS 46 0.30
b7 =R AF3aw 7.0 0.30
L1 = A ho<y 40 0.30
J1 (=% N HOHRETF 3.2 0.30
J35 =R OO0 EF 3.2 0.30
E4 hR XUEIEA 0.8
E6 hR XUEIEA 1.0
J40 =R OO0 +EF 3.0 0.30
ET1 hR FUEEA 1.0
J52 =R OO0 EF 40 0.30
D14 hR YINF 1.1
Y7 =2y N aA 1.2
D12 hR YINF 1.2
Q2 FAR rRS 1.2
Q14 FAR rRS 1.2
el hR JAERE 1.3
E10 hR FUEYEA 1.3
U2 K TAIADARE 1.3
t1 AR rro<o9H 1.3
E7 hR FUEYEA 1.4
D16 hR YINF 1.4
J53 =R JOH+EF 38 0.30
J54 =R JOH+EF 3.7 0.30
J60 =R JOH+EF 7.0 0.30
J64 =K HaOHREF 3.2 0.30
7 =R Tubr4a 45 0.30
M39 =R Hrdoa 6.0 0.30
n42 =R PRV A 3.2 0.30
n44 = AR FUYNRE 3.2 0.30
Vi34 =K ITINA 5.0 0.30
b5 =R AF3 6.5 0.32
(%1 =R sa<wy 4.0 0.35
n43 =R PRV AES 3.2 0.35
J10 =K HaOH=EF 40 0.36
V37 =K ITINA 35 0.36
M29 =R Hrdoa 40 0.40
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No TR HiiE Eam)  BAGADH) %
S45 = A FRAIEF 3.0 0.40
L8 =mA EXTSVRE 6.7 0.40
V43 =mA TTINA 3.0 0.42
V40 =mA TTINA 40 0.43
b6 =K AFav 7.0 0.45
J13 (=% N HOHRETF 45 0.45
J17 =P/ N JOHEF 5.0 0.45
J18 (=% N HOHRETF 5.0 0.45
(X5 =R A<y 76 0.45
j4 = VAN 40 0.45
V42 = A TTINA 35 0.45
w3 = RUCS/AY. 6.0 0.45
b2 =R AF3aw 7.0 0.50
(%6 =R A<y 6.5 0.50
M31 =R o322 33 0.50
M34 =R o322 6.0 0.50
Q15 AR rRS 1.4
M35 =R o322 6.0 0.50
04 = A AFTA 42 0.50
S44 =R +RAIEF 3.8 0.50
&5 =R EXSVRAE 5.0 0.50
% =R TTINA 36 0.50
V27 =R TTINA 42 0.50
F1 =R oy VES 6.5 0.52
Q16 hR rRS 1.4
Al =R TIhY 5.0 0.55
&4 =R EXSVRAY 8.0 0.55
V28 =R TTINA 55 0.55
M30 =R o302 40 0.56
4 =R TTINA 40 0.56
V24 =R TTINA 42 0.57
E9 hR FUEYEA 15
03 =R AEA 5.0 0.58
ql = AR FhiT 45 0.60
b1 =R AF3 7.0 0.60
b3 =R AF3 3.0 0.60
D7 R YINE 1.5
nl6 R RV ACS 15
n24 R RV ACS 15
ET1 R XUEIEA 1.6
E2 R XUEIEA 1.6
E3 R XUEIEA 1.6
E5 R XUEIEA 1.6
Y2 R a0 1.6
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No TR HiiE Eam)  BAGADH) %
E8 AR FUEIEA 1.7
J61 AR JOHEF 1.7
J62 AR HOHEF 1.7
J63 AR JOHEF 1.7
K7 AR HHh 1.7
11 Bh R VAN 1.7
D5 AR YINE 1.7
b4 =K AF3av 35 0.60
b8 =R AF3aw 6.0 0.60
J6 =K OO0 EF 3.2 0.60
J7 =K OO0 EF 3.2 0.60
J9 =K OO0 +EF 42 0.60
JI11 =R OO0 EF 5.0 0.60
J16 =R OO0+ EF 5.0 0.60
J22 =R OO0 EF 34 0.60
J23 =R OO0 +EF 34 0.60
D6 == N YINF 1.7
D7 == N YINF 1.7
D8 == N YINF 1.7
D9 == N YINF 1.7
D10 hR YINF 1.7
D11 hR YINF 1.7
t2 AR o< 9o 1.7
553 B R FRAIEF 1.7
D4 =2y N I 1.8
Q3 FAR rRS 1.8
Q4 FAR rRS 1.8
Q5 FAR rRS 1.8
Q6 FAR rRS 1.8
Q7 FAR rRS 1.8
Q8 FAR rRS 1.8
Q9 AR rRS 1.8
Q10 AR rRS 1.8
Q11 AR rRS 1.8
J51 =K HaOHREF 3.0 0.60
(%4 =R sa<wy 7.8 0.60
j2 =R VAN A 40 0.60
M32 =R Hrdoa 6.0 0.60
M33 =R Hrdoa 7.0 0.60
M36 =R Hrdoa 7.0 0.60
M37 =R Hrdoa 5.4 0.60
M40 =R Hrdoa 40 0.60
M4 =R Hrdoa 40 0.60
N3 = TohY 5.0 0.60
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No TR HiiE Eam)  BAGADH) %
05 =mA AFTA 8.0 0.60
o7 =mA AFTA 7.0 0.60
08 =mA AFTA 7.0 0.60
09 =mA AFTA 5.8 0.60
St = A FRAIEF 5.0 0.60
539 = A FRAIEF 40 0.60
S40 = A FRAIEF 36 0.60
S41 = A FRAIEF 36 0.60
S57 =R FRAIEF 5.0 0.60
559 =R FRAIEF 5.0 0.60
S60 =R +RAIEF 6.0 0.60
L6 = EXZVRE 8.0 0.60
&7 = A EXSVRE 7.0 0.60
V10 = A TTINA 3.0 0.60
Vi4 = TTINA 5.4 0.60
V15 = TTINA 5.0 0.60
Q12 AR rRS 1.8
Q13 AR rRS 1.8
Vi7 = A TTINA 40 0.60
V18 =R TTINA 34 0.60
V26 =R TTINA 7.0 0.60
V29 =R TTINA 36 0.60
V30 =R TTINA 5.2 0.60
%3 =R TTINA 40 0.60
%3 =R TTINA 55 0.60
V33 =R TTINA 6.7 0.60
V35 =R TTINA 7.0 0.60
V36 =R TTINA 5.4 0.60
V38 =R TTINA 35 0.60
a2 = A ThTT 6.5 0.62
a3 = A ThTT 6.0 0.65
06 =R RAEFTA 7.0 0.65
V19 =K ITINA 34 0.65
V25 =K ITINA 40 0.65
(%2 =R sa<wy 42 0.67

12 = AR VAN 40 0.70
M23 =R Hrdoa 42 0.70
M27 =R Hrdoa 3.2 0.70
S55 =R FRAIEF 8.2 0.70
&2 =R EXTVRAY 45 0.70
&3 =R EXTVRAY 38 0.70
(%3 =R sa<wy 38 0.71
V3 =R TTINUA 5.0 0.78
J30 =K Han=EF 3.0 0.80
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J33 =mA HOHEF 3.0 0.80
J34 =mA JOHEF 34 0.80
M5 = A Hoa9a 5.2 0.80
M7 = A Hoa9a 5.2 0.80
M8 = A Hoa9a 5.0 0.80
M28 = A Hoa9a 5.0 0.80
S46 = A FRAIEF 7.0 0.80
S54 = A FRAIEF 5.0 0.80
S56 =R FRAIEF 6.7 0.80
%7 = TTINA 48 0.80
%] = A TTINA 42 0.80

10 = VAN 40 0.85
ni2 K PRVAJAE S 1.8

ni3 K PRVAJAE S 1.8

ni4 K PRVAJAE S 1.8

ni5 K PRVAJAE S 1.8

nl9 K PRVAJAE S 1.8

n21 K PRVAJAE S 1.8

X1 KR DT 0.5

n22 K PRVAJAE S 1.8

n25 =P/ N PRVAJAE S 1.8

n26 =P/ N PRVAJAE S 1.8

M6 =R o302 5.0 0.85
M25 =R o302 40 0.85
V20 =R TTINA 42 0.86
J2 =R JOH+EF 40 0.90
J12 =R JOH+EF 5.0 0.90
J20 =R JOH+EF 34 0.90
J41 =R JOH+EF 34 0.90
J42 =R JOH+EF 34 0.90
J43 =R JOH+EF 34 0.90
J44 =R JOH+EF 34 0.90
n27 R RNV IACS 1.8

n28 R RNV IACS 1.8

n29 R RV ACS 1.8

n30 R RNV IACS 1.8

Z1 =)/ N T7EE 1.9

K6 AR HHh 1.9

nl7 R RV ACS 1.9

ni8 R R ACS 1.9

n31 R R ACS 1.9

n32 R R ACS 1.9

n33 R R ACS 1.9

n34 R RV ACS 1.9
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n35 th R P RVAVJAES 1.9
n36 th R pRVAJAES 1.9
n37 th R o RVAJAES 1.9
n38 th R P RVAVJAES 1.9
n39 th R UV FE 1.9
(F1 R [=A 1.9
J5 R JOHEF 2.0
J55 AR OO0 EF 2.0
K1 hR YHh 2.0
K2 hR HHh 2.0
K13 hR HHh 2.0
D15 hR YINF 2.0
n8 hR FIVINFE 2.0
n10 R PRV A 2.0
n20 hR PRVAJAE S 2.0
n23 hR PRVAJAE S 2.0
542 R FXIEF 2.0
w2 AR INDTFIA T 2.0
z1 =2y N INFRAS 2.0
71 R E1SF 2.0
72 K EA4SF¥ 2.0
w2 hR AU L/AY 2.0
K8 R YHh 2.1
K9 R HHh 2.1
K11 R HHh 2.1
M42 hR o302 2.1
M43 hR o302 2.1
M44 hR o302 2.1
M45 hR o302 2.1
M46 hR o302 2.1
M47 hR o302 2.1
K10 R HHh 2.2
K14 AR HHoh 2.2
K15 AR HHoh 2.2
K16 AR HHoh 2.2
K17 AR HHoh 2.2
D3 R YINE 2.2
D13 R YINF 2.2
n2 R RV ACS 2.2
n4 R R ACS 2.2
J8 R JOH~EF 2.3
J36 R JOH~EF 2.3
K4 AR HHoh 2.3
K12 ==/ N HHoh 2.3
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n3 th R P RVAVJAES 2.3
n9 th R pRVAJAES 2.3
nii th R o RVAJAES 2.3
n45 th R P RVAVJAES 2.3
wi R INDTFIAIYT 2.3
51 th R VAlY 2.4
J66 AR JOHEF 2.4
K5 AR HHh 2.4
n5 K FIYINFE 24
n6 K FIYINFE 24
n40 K PRVAJAE S 24
J3 R OO0 +EF 25
i3 hR VAN 2.5
17 R VAN 2.5
Y3 R a0 2.5
Ut R LI DARA 2.5
D2 == N YINF 2.5
n7 K FIVINFE 25
f1 hR oy 25
f2 R oy 25
gl =R 7YX 5.0 0.90
j1 =R VAN 40 0.90
Z FAR TTINA 25
J14 hR JOH+EF 2.6
J15 hR JOH+EF 2.6
i6 =R VAN 40 0.90
i8 =R VAN 40 0.90
j14 =R VAN 5.0 0.90
j23 =R VAN 8.0 0.90
29 =R VAN 55 0.90
M2 =R o302 7.0 0.90
M1 =R o302 40 0.90
Mi12 =R Hrdoa 40 0.90
M20 =R Hrdoa 5.0 0.90
M21 =R Hrdoa 40 0.90
02 = AR RETA 44 0.90
543 =R FRAIEF 45 0.90
V2 =N TTINA 3.2 0.90
V7 =N TTINA 5.5 0.90
J39 R JOH+EF 2.6
K3 AR HHh 2.6
J48 R JOH~EF 2.7
J56 R JOH+EF 2.7
J57 R JOHREF 2.7
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J58 AR HOHEF 2.7

J59 AR JOHEF 2.7

Vi2 =mA TTINA 4.4 0.90
Vi3 =mA TTINA 4.4 0.90
Vi6 =mA TTNA 5.6 0.90
wi =mA AU S/AY, 40 0.90
M4 = A Hoa9a 45 0.99
j21 =mA VAN 8.0 1.00
of1 = A AFTA 3.0 1.00
& = EXSVRE 5.0 1.00
Q7 AR rRS 2.7

ni K RN ACS 2.7

V8 = A TTINA 45 1.00
g4 = TN 8.0 1.10
M13 =R o322 38 1.10
Mi14 =R o322 38 1.10
vi = A VAN 7.2 1.20
J37 =R OO0 EF 3.0 1.20
J65 =R OO0 EF 34 1.20
g5 = A Rty 9.0 1.20
g6 = A Rty 7.3 1.20
5 =R VAN 42 1.20
i9 =R VAN 3.7 1.20
j25 =R VAN 6.5 1.20
i30 =R VAN 7.0 1.20
M1 =R o302 6.0 1.20
M3 =R o302 45 1.20
Mi18 =R o302 48 1.20
M19 =R o302 40 1.20
M26 =R o302 48 1.20
M38 =R o302 6.0 1.20
N4 =R ThY 42 1.20
558 =R FRAIEF 7.0 1.20
g3 =R 7YX 8.0 1.30
18 = AR VAN 75 1.40
j22 = AR VAN 8.2 1.40
M9 =R o322 40 1.40
M10 =R Hrdoa 5.0 1.40
M15 =R Hrdoa 40 1.40
M16 =R Hrdoa 40 1.40
M17 =R Hrdoa 40 1.40
M22 =R Hrdoa 338 1.40
M24 =R Hrdoa 338 1.40
j26 = AR VAN 6.8 1.50
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i28 =mA VAN 5.6 1.50
x1 =R Y ¥ 3.7 1.50
g2 = A 7YX 8.0 1.62
15 =mA VAN 6.5 1.80
i16 =mA VAN 6.0 1.80
24 =mA VAN 7.0 1.80
7 = A VAN 5.0 2.10
19 =mA VAN 7.0 2.10

Vit hR TTINA 2.7

n41 K RV JAES 2.8
j20 =R VAN 8.0 2.10
j27 =R VAN 6.5 2.10
J38 hR OO0 EF 35

Vi =R TTINA 5.0 2.40
i13 =R VAN 6.8 2.80




HiE- 2% RE-ER
20 BB ERESREHER
e A=H7600m L E3mAK i {EA=HE60omKiH Z=Z %
No TR BiE =1 =(m) EAE(n) fr K 5 E () &=

11 R AXIHT 1.9 16.0 388
H1 R HhAIhA4TFx 25 100.0 360.0
x1 R E4SF 0.8 1.0 4.2
71 R INDTFIADT 1.0 1.0 6.0
41 R Y30 26 12.7 48.3
VA R HUXxIYD 0.8 0.5 29
2 R AL A% 0.6 8.5 215
3 EXR VAL AP 0.4 05

4 EX wAVE VAP 0.4 05

5 EXR AL A% 0.4 05

6 EXR AL AP 0.4 05

il EX wAVE VAP 0.4 05

8 EXR LA 0.4 05

+9 EXR AL AP 0.4 0.5

+10 EXR WAVE VAP 0.4 05

11 EX HUxUUD 5.0

12 EXR LA 7.0

1 hAR )N 0.8 2.0 6.8
22 ==/ N Vad7Av 0.7 1.0 38
3 == N ) 0.7 15 5.0
4 hAR Iy ) oA 10 2.0 8.0
5 R ) NA 1.0 6.0 20.0
6 ==/ N )N 0.9 5.2 16.1
e hAR ) NA 0.9 5.2 16.1
8 AR )N 0.9 6.0 18.6
29 ==/ N Ve 7Av 0.9 45 13.7
210 R ) oA 0.9 7.0 185
11 AR ) NA 0.8 7.0 17.2
12 =P/ N Ve 7Av 0.8 40 10.9
1 R ALY FIVYD 1.0 1.0 5.0
V2 R ATHA LY FIID 1.0 1.0 5.0
V3 R FTHLZHTYID 10 10 5.0
V4 R ALY FIVYD 1.1 1.5 7.0
V5 R FTALFHFUID 1.1 15 7.0
6 hR FTALZHFIVD 10 15 6.5
V7 R THLSHFIYD 10 15 6.5
V8 R ATHA LY FIID 1.0 1.0 5.0
Y9 R FTA LT FIVD 1.2 15 75
Y10 R THLSHFIYD 30.0 485
AR R ALY FIYD 1.0 1.0 5.0
Y12 R FTHALZHFIVD 0.9 1.0 46
V13 R FTHLZHFTYID 10 1.2 5.6
Y14 R ALY FIVD 0.8 2.4 75
Y15 R ATHA LTI ID 1.0 40 14.0
Y16 R FTA LT FIVD 10 5.0 15.5
17 R ALY FIVD 0.9 45 12.6
18 R ATHALTHFIID 1.1 6.0 17.0
w19 hR FTALZHFIVD 10 2.0 8.0
20 R THLSHFIID 10 10 5.0
Y21 R ALY FIVYD 1.0 21.0 53.8
V22 R FTALZHFIID 0.7 0.8 33
23 R FTALZHFTIID 0.7 0.5 2.6




HiE 2% RHE-EHR
20 BB ERESREHER
X AR=#E60cmll E3mKi#E EAR=#Z60cmEKiH T=-ZF

No TR BE =1 =(m) EE(n) fh K 5 E () &=
24 R TH LY XY ID 0.7 05 2.6
V25 hR FTA LT FIVD 0.7 0.7 3.1
26 R THLSHFIID 0.7 05 2.6
V27 R ALY FIYD 1.0 2.0 8.0
28 R FTALZHFIID 0.8 10 42
29 R FTALZYFTIID 0.8 10 42
30 R ALY FIVD 05 1.0 3.0
31 R FTALFHFIID 0.5 10 30
V32 R ALY TIID 0.5 1.0 3.0
33 R ALY FIYD 0.7 2.0 5.0
34 R TH LS XY ID 0.8 3.0 8.6
V35 R A LZYFTIID 0.5 25.0 75.5
36 R THLSHFIID 0.7 8.8 17.0
Y37 R FALFHXYID 0.7 24.0 59.7
WAL] R FTALZHFIID 0.7 14.4 25.6
39 R THLSHFIYD 0.7 24.0 59.7
~1 R NPE AN 0.9 1.0 46
k2 PR N PN 0.7 1.0 3.8
~3 R (NP PN 0.7 0.7 3.1
R1 AR RyO X9k 1.0 0.8 4.4
a1 FAR ¥V ¥ 0.8 3.0 12.0
21 R rRS 0.9 2.5 8.8
52 R rRS 0.8 1.5 55
>3 hAR kRS 1.0 2.5 9.5
24 AR rRS 1.1 2.5 10.2
55 R rRS 0.9 2.0 74
56 FAR RS 1.8 5.0 26.6
27 AR rRS 1.7 45 23.2
38 R rRS 1.7 2.0 12.2
1 R EHE 1.3 4.0 1.8 [ )unNA kRS
iE2 FAR i 1.6 6.0 284 [Sx)oiNL - FRT
1 a2 D7A 288.5
Z2 a3 DZA 240.0
3 a3 N 270.0
Z4 = TA 90.0
Z5 Z5% TA 488.0
26 a3 A 40.0
Z7 a3 TA 64.0
E1 <& U3 120.0




BA-PA-ER BE-E

21 HREBEREEREHH

KEA=REImLE PAR=#E60cmLl E3ImK i {EAKR=155=60cm* i

No EH HiiE Eam)  BAGADH) %

D7 R YINF 0.4

D8 th R YINF 0.4

Y1 th R JamEysy 0.6

D9 th R YINF 0.9

B th R A5 1.0

D6 R YINF 1.1

K1 th R HHh 1.1

H1 th R RZHTAEF 1.2

H2 B R RZHhTFAEF 1.2

D7 R YINF 1.4

D2 R YINF 1.5

D5 R YINF 1.6

X1 AR ax 1.6

M9 hR o322 1.9

D3 R YINF 2.0

D4 R YINF 2.0

M4 hR o322 2.1

M6 hR o322 2.1

M7 hR o322 2.1

M8 hR o322 2.1

M13 hR o302 2.1

M3 hR o302 2.2

Mi14 hR o302 2.2

M1 hR o302 2.5

M2 hR o302 2.5

M10 hR o302 2.5

Mi12 hR o302 2.5

M1 hR o302 2.6

h1 FAR a7y 2.7

M5 hR o302 2.8

cl [=% N AONEID 35 0.62
c2 [=% N AONEID 40 0.70
58 =R Y5 7.0 0.72
55 =R Y5 7.0 0.75
59 =R Y5 7.0 0.76
57 =R Y5 7.0 0.85
b1 =R h¥x/% 7.0 0.91
53 =R Y5 7.0 0.95
52 =R Y5 7.5 0.95
51 =R Y5 7.5 1.30
H4 =R Y5 8.0 1.05
56 =R Y5 8.0 1.16
1 = A YA/ 8.0 1.50
j2 = AR JA(IT ) 8.0 1.55




BAR-ARER

21 HREBEREEREHH

KEA=REImLE PAR=#E60cmLl E3ImK i {EAKR=155=60cm* i

AE—K

No E B g Ba(m) BAGEKROH) w5
H11 = A Y5 8.5 0.86
510 = A Y5 8.5 0.94
515 = A Y5 9.0 0.74
514 = A Y5 9.0 0.84
516 = A Y5 9.0 0.88
521 = A Y5 9.0 0.90
517 = A Y5 9.0 0.99
518 = A Y5 9.0 0.99
512 = A Y5 9.0 1.01
519 =R Vbl 9.0 1.02
522 =R VPl 9.0 1.05
513 =R VPl 9.0 1.16
520 = Y5 9.0 1.20
523 =R VPl 9.0 1.21




HiE-2%E FAE—ER
21 EEEHERESREHER
e A=H7600m L E3mAK i {EA=HE60omKiH Z=Z %
No TR BiE =1 =(m) EAE(n) fr K 5 E () &=

1 R AL AP 0.6 15 5.8
6 hR ALY TIID 0.7 73.8 1445
W17 R A LSHFIVYD 0.7 35 7.7
2 EXR AL AP 0.4 1.0
3 EXR W AVESVAID 0.5 1.0
4 EX HUXxIYD 0.4 6.1
5 EXR AL A% 0.4 22.5
6 ER VAL AP 0.5 40.6
il R wAVE VAP 0.8 0.9 40
8 R AL A% 0.8 3.0 8.6
V5 PR A LZHFIVYY 0.8 26.7 56.0
W15 R ALY FIID 0.8 2.0 5.2
16 R T LFHXIVYD 0.8 3.1 75
1 R A LZHFIVYY 0.9 0.7 3.7
V4 R ALY IID 0.9 1.1 49
Y10 R A LSHXIVYD 0.9 2.4 8.0
Y11 R FALZHFIIYY 0.9 1.3 5.4
Y12 R ALY IIY 0.9 9.4 20.4
Y14 R ALY XIID 0.9 38 9.2
V2 R FALZHFIVUY 1.0 32.3 123.1
V3 FAR ALY IIY 1.0 0.8 44
V7 R ALY FIID 1.0 2.0 7.7
K1 R (NP 1.0 1.3 5.9
k3 R NPE AN 1.0 1.7 6.9
W13 R ALY TIID 1.1 6.0 15.3
)1 R TA)F 1.1 74.0 210.7
71 R 7tE 1.2 1.1 4.7
72 R 7tE 1.2 2.2 7.7
9 R A LSHXIVYD 1.2 1.8 8.2
1)3 R TAR)F 1.2 0.6 43
1)5 R T 1.2 0.6 5.7
1)6 R TA)FP 1.2 0.9 55
K2 R (NP 1.3 2.3 10.2
)4 R FAR)TF 1.3 1.6 8.6
1)7 hR TAR)FP 1.3 0.6 4.6
1)9 R TA)F 1.3 0.6 4.6
1J10 R TN 1.3 0.7 5.1
1J12 R TAR)FP 1.3 1.0 6.2
)13 R TA)FP 1.3 405 114.6
)14 R TARY)F 1.3 26.1 51.5
1J15 K T 1.3 19.2 39.0
V8 R ALY FIID 14 48 21.0
1)2 R TAR)F 14 0.8 5.8
1)8 2]y N TR 1.4 0.7 5.4
111 R TAR)FP 1.5 43 17.2
1 <& DZA 15.0
&2 a3 N 44.6
23 a3 D7A 37.8
Z4 <& N 128.1
Z5 & ZA 97.9
Z6 = A 126.7

= DA 499




BAR-ARER

22 MEBEBERESREHH

KEA=REImLE PAR=#E60cmLl E3ImK i {EAKR=155=60cm* i

HE—%

No EH HiiE Eam)  BAGADH) %
22 KR r<Jx 0.4
t1 R YvJx 0.5
t2 R YvJx 05
t3 ER YvJx 0.5
t8 B R r<Jx 0.6
t11 AR YvJx 0.6
t16 B R r<Jx 0.6
t17 AR YvJx 0.6
t19 hR YvJx 0.6
t20 hR YvJx 0.6
t21 hR YvJx 0.6
t4 hR YvJx 0.7
t5 hR YvJx 0.7
t10 hR YvJx 0.7
t13 hR YvJx 0.7
t18 hR YvJx 0.7
t6 hR YvJx 0.8
t7 hR YvIJx 0.8
t9 hR YvJx 0.8
t12 hR YvJx 0.8
t14 hR YvJx 0.8
25 hR YvJx 0.8
26 hR YvJx 0.8
31 hR YvIJx 0.8
23 hR YvIJx 0.9
t24 hR YvJx 0.9
N3 FAR IhY 1.0
N4 FAR IhY 1.0
t27 hR YvIJx 1.0
28 hR YvIJx 1.0
29 hR YvIJx 1.0
30 hR YvIJx 1.0
t34 R YvJx 1.0
32 R YvJx 1.1
33 R YvJx 1.1
35 R YvJx 1.1
36 R YvJx 1.1
A6 R TA)F 1.2
A7 R TA)F 1.2
A8 R TA)F 1.2
A9 R TA)F 1.2
Al0 R TA)F 1.2
Al R TA)F 1.3
A2 R TA)F 1.3




BAR-PAR-ER RE—E

22 MEBEBERESREHH

KEA=REImLE PAR=#E60cmLl E3ImK i {EAKR=155=60cm* i

No TR HiiE Eam)  BAGADH) %
A3 BR TA)7 1.3
A4 th R TAYTF 1.3
AS BR TA)7 1.3
al th R ToHA 1.3
Ut R EYh¥E 1.8
a2 AR ToHA 1.8
a3 AR ToHA 1.8
p21 R NFERF 1.9
p17 A NFIXF 2.0
ET1 hR XUEIEA 2.1
a4 hR ToHA 2.1
ab hR ToHA 2.1
ab hR ToHA 2.1
a7 hR ToHA 2.1
E2 hR XUEIEA 2.2
E4 hR XUEIEA 2.3
p25 R NFIXF 2.4
p20 R NFIXF 2.6
p18 R NFIXF 2.7
p27 R NFIXF 2.7
E3 hR FUEYEA 2.8
p24 K NFERF 2.9
p23 =R NFERF 3.0 0.20
p22 =R NFEXF 3.1 0.20
s2 (=N % 3.2 0.42
s5 (=N % 3.2 0.47
s4 (=N % 3.2 0.54
s6 (=N % 3.2 0.54
s7 =K % 3.2 0.55
s3 =K % 3.2 0.63
s (=N % 3.2 0.84
p16 =R NFERF 33 0.20
p7 =R NFEXF 34 0.32
pl =R NFEXF 35 0.20
p5 =R NFEXF 36 0.20
p6 =R NFEXF 36 0.20
St =R FRAIEF 36 0.30
p2 =R NFEXF 38 0.20
p3 =R NFEXF 38 0.20
p13 =R NFEXF 38 0.20
p19 =R NFEXF 38 0.22
p11 =R NFEXF 38 0.25
p8 =R NFEXF 38 0.28
p14 = NFEXF 3.9 0.23




BAR-PAR-ER RE—E

22 MEBEBERESREHH

KEA=REImLE PAR=#E60cmLl E3ImK i {EAKR=155=60cm* i

No TR HiiE Eam)  BAGADH) %
p10 =mA NFIXF 40 0.20
p26 =mA NFIXF 40 0.20
p12 =mA NFIXF 4.2 0.30
p9 =mA INFEXF 43 0.26
p15 =mA NFIXF 45 0.28
N1 =mA ohY 45 0.80
11 =mA VERE 5.0 0.58
i 9 =mA VERE 5.0 0.65
j 12 =R YA/ 5.0 0.74
j 10 =R YA/ 5.0 0.75
N2 = A ThY 5.3 0.78
F31 =R oy VES 6.0 0.64
j 7 =R YA/ 6.0 0.65
j 2 =R YA/ 6.0 0.66
j 3 =R YA/ 6.0 0.74
j 6 =R YA/ 6.0 0.77
j 1 =R YA/ 6.0 0.78
j 8 =R YA/ 6.0 0.80
N6 = A ohY 7.0 0.80
F28 =R oy VES 7.0 0.94
F27 =R oy VES 7.0 0.95
j 5 =R YA/ 7.0 0.96
F25 =R oy VES 7.0 1.03
F26 =R oy VES 7.0 1.06
j 4 =R YA/ 7.0 1.12
F29 =R oy VES 7.0 1.24
L2 =R hAIh4T+ 7.0 1.40
N8 =R IhY 8.0 0.63
N7 =R IhY 8.0 0.64
N5 =R IhY 8.0 0.75
F20 =R oy VES 8.0 0.88
F19 =R oy VES 8.0 0.90
F13 =R oy VES 8.0 0.94
F10 =R oy VES 8.0 0.95
F17 =R oy VES 8.0 0.96
F16 =R oy VES 8.0 0.98
F8 =R rVES 8.0 1.03
F9 =R rVES 8.0 1.04
F6 =R rVES 8.0 1.05
F7 =R FVES 8.0 1.06
F4 =R P VES 8.0 1.07
F23 =R oy VES 8.0 1.08
F2 =R P VES 8.0 1.10
F15 =R oy VES 8.0 1.10




BAR-ARER

22 MEBEBERESREHH

KEA=REImLE PAR=#E60cmLl E3ImK i {EAKR=155=60cm* i

AE—K

No E B g Ba(m)  BEAGEAROH) #E
F11 = A FVES 8.0 1.13
F14 = A FVES 8.0 1.13
F24 = A FVES 8.0 1.14
F5 = A FVES 8.0 1.15
F12 = A FVES 8.0 1.15
F21 = A P VES 8.0 1.23
F18 = A FVES 8.0 1.25
F22 = A FVES 8.0 1.25
LM = A HhAIhA4Tx 8.0 1.40
F3 =R oy VES 9.0 1.08
F30 =R Ve 9.0 1.84
F1 =R oy VES 9.0 2.00




FiE- 2% HE-EX
22 P EBERESREHER
X ehR=fE60cmEL E3ImK i (ER=HZ60cm*kit T=2%
No TR BiE =1 =(m) EAE(n) fr K 5 E () &=

71 R FAR)TF 1.4 13.6 91.2
72 hR TAR)FP 14 12.7 63.1
73 R TA)F 14 2.7 14.4
74 R FA)F 0.9 2.5 95
75 R TA)F 14 45 22.4
76 R TAR)FP 1.5 9.0 39.0
77 R TAR)F 14 16.0 63.6
78 R TN 1.6 1.2 8.2
79 R TA)FP 1.6 1.2 8.2
710 R TAR)F 1.7 38 13.7
711 R TA)F 15 3.3 11.3
712 R TA)FP 1.3 7.4 21.6
713 R TAR)F 15 7.7 24.5
714 R TAN)F 15 9.7 27.3
715 R T 1.5 10.5 29.3
716 R T)FP 1.5 10.0 28.0
T17 R TAR)F 15 8.4 24.0
718 R T 15 6.9 22.2
719 R TAR)FP 1.5 10.4 32.3
720 R TAR)F 15 6.2 31.7
721 R T 15 6.2 32.0
722 R TA)FP 1.5 6.4 32.8
723 R TAR)F 15 6.0 30.9
7 24 R FAR)TF 0.8 11.0 30.2
725 R TAR)FP 0.9 11.0 22.7
726 R TA)F 0.7 47 12.7
727 R TA)TF 0.7 45 12.2
728 R T 0.9 11.0 22.7
729 R T)FP 0.7 5.0 13.4
730 R TAN)T 0.7 45 12.2
731 R T 0.8 35 10.7
732 R TA)FP 0.8 35 10.7
733 R TAN)7 0.6 11.0 25.4
734 R FAR)TF 0.8 11.0 30.2
7 35 hR TAR)FP 0.9 18.4 40.9
7 36 R TA)F 0.9 18.4 40.9
11 R AXYHT 0.9 13.0 27.7
12 R AXYY 0.9 11.3 23.6
13 R AXIY 0.9 11.4 235
14 FAR AXYY 0.9 10.0 21.7
15 AR AXYH 0.9 9.6 17.9
16 R ARG 0.8 6.1 13.7
17 R AV 0.8 12.5 22.5
18 hAR AXIHT 0.7 8.9 18.1
19 R AXYY 10 14.6 25.6
110 R AV 0.8 6.8 14.6
111 R AXIHT 0.9 7.6 16.8
112 hR AXYH 0.9 18.0 30.2
113 R AXIY 0.9 7.3 14.6
114 AR AXYY 0.8 13.0 25.2
115 R AXYH 0.9 10.8 23.2
116 R ARG 0.9 9.2 185




HiE 2% HE-ER
22 P EBERESREHER
XA E60cmEL F3mEE EA-HZ60cmKH E=-2%
No TR BE =1 =(m) EE(n) fh K 5 E () &=

1417 R AXYY 0.8 10.0 27.6
118 hR AXYY 0.8 13.8 385
119 R AXIY 0.8 5.7 15.8
120 R AXYY 0.7 7.7 14.0
121 R AXYH 0.8 7.9 15.9
122 R AXYH 0.8 6.6 13.2
123 R AV 0.9 26.0 40.9
124 R AXYHT 0.8 23.8 40.0
125 R AXYY 0.8 20.8 33.6
1 EXR AL A% 0.3 6.5

2 AR AL AP 0.4 138

3 EX wAVE VAP 0.4 12.2

4 EX LA 0.5 34.7

5 EXR AL AP 05 30.9

6 EXR WAVE VAP 0.5 32.0

val R HUxUUD 0.7 36.7 53.3
8 EX LA 05 56.9

9 EXR I IID 0.5 14.8

10 R HUXxIYD 0.6 10.0 18.4
P11 EXR AL AP 0.5 12.8

12 R VAL AP 0.6 5.9 133
13 R wAVE VAP 0.6 14.3 24.2
14 R AL A% 0.6 11.6 19.8
15 EXR AL AP 05 2.1

16 =/ N WAVE AP 0.6 12.8 22.3
H17 EX YYD 0.5 27.5

18 R AL AP 0.6 22.4 34.6
19 =P/ N WAVE VAP 0.6 225 34.2
420 EX HUxUUD 05 3.8

21 R LA 0.6 16.3 25.1
22 EXR I IIT 0.5 128.0

423 R YYD 0.6 405.0 56.7
24 R AL A% 0.7 18.4 31.1
425 R AL AP 0.7 9.9 17.7
426 R wAVE VAP 0.6 9.3 18.4
27 R YUY 0.6 145 245
+-28 R YD 0.8 9.8 22.6
429 R wAYE VA 0.6 42 9.6
430 EX YYD 05 6.0

431 R AL AP 0.7 8.2 19.4
32 EXR I IID 0.5 13.8

433 EX YYD 0.3 15.2

434 EXR LA 0.4 2.4

435 EXR AL AP 05 12.5

436 EX wAVE VAP 0.3 345

37 EXR LA 0.5 14.0

+-38 ER AL AP 0.5 0.9

439 EXR wAVE VAP 0.3 45

40 EX YUY 0.3 43.0

H41 EXR AL AP 05 29.7

42 EXR WAVE AP 0.5 16.8

43 EX HUxUUD 05 20.2




HiE- 2% RE-ER
22 P EBERESREHER
X AR=#E60cmll E3mKi#E EAR=#Z60cmEKiH T=-ZF
No TR BE =1 =(m) EE(n) fh K 5 E () &=

44 ER AL AP 0.4 24.4

45 EXR wAVE VA 0.3 3.3

1146 EX YYD 0.3 2.1

47 EXR AL AP 0.3 6.9

48 EXR WAVE VAP 0.5 17.6

49 EX HUXxIYD 0.4 13.0

50 EXR AL A% 0.4 13.0

1 EXR EFYVYD 0.5 42

V2 EX EFYYD 0.5 9.0

E1 R EShoH 1.1 28.0 61.0
E2 PR ESh Y 0.9 5.0 10.4
E3 R EShoY 0.9 5.0 10.4
E4 R EShoY 0.9 5.0 10.4
E5 h AR ESh Y 0.9 47 9.8
E6 AR EShoY 0.7 9.2 18.4
E7 R EShoY 0.8 48 9.4
Es R EShoH 0.8 48 9.4
E9 hAR ESh Y 0.8 7.8 16.8
E10 R EShoY 0.8 7.8 16.8
E11 R ESh 4 0.9 7.8 16.8
E12 hAR EShoY 0.9 7.8 16.8
A1 R YvJx 0.9 2.0 7.4
72 R Y<Jx 1.2 1.9 7.7
Z1 A A 3.0

Z2 a3 DA 54.6

Z3 <& DA 47.2

4 a3 D7A 24.9

25 a3 D7A 2614.9

26 <& D7A 6.5

P a3 DZA 5.0

28 a3 DA 74.0




